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The area of an equilateral triangle is 4/3 cm?. I its perimeter is d cm,

find the value of d.
1985 FS1.4
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The length of a side of an equilateral triangle is 2 cm.

Ifits areais d+/3 cm?, find the value of 4.

1986 FSG.3
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The area of an equilateral triangle is 1003 cm?. If its perimeter is p cm,

find the value of p.

1987 FG6.2
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The perimeter of an equilateral triangle is 60.

Ifits areais k+/3 , find the value of £ .

1988 FGY.1
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The area of an equilateral triangle is 504/12.

If its perimeter is p, find the value of p .

1989 HI7

SR e s AR R AR R g 6 3
FRAED f;m\/_l”"??}—lf‘fﬁﬁq/mﬁﬁtin\x Fox g o

A boy tries to find the area of a parallelogram by multiplying together the lengths

Bipem fpeni -

of two adjacent sides. His answer is V2 times the correct area.

If the acute angle of the parallelogram is x°, find the value of x .
1991 FSG.34
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A boy tries to find the area of a parallelogram by multiplying together the lengths

W

of two adjacent sides. His answer is double the correct answer.

If the acute angle and the obtuse angle of the figure are 4° and k° respectively,
find the valuesof 4 and k.
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The area of an equilateral triangle of side 4 cm is /3 cm?. Find the value of 4 .
1992 FGI.1
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If the area of a regular hexagon ABCDEF is 54./3 cm? and AB = x cm ,
find the value of x.
1995 HG2
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In the figure, ABCD is a quadrilateral whose diagonals )
intersect at O. If LZAOB = 30°, AC =24 and BD =22,
find the area of the quadrilateral ABCD . B C
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The perimeter of an equilateral triangle is exactly the same in length as the
perimeter of a regular hexagon. The ratio of the areas of the triangle and the

hexagon is 2 : a, find the value of a .
1997 FI3.3
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The perimeter and the area of an equilateral triangle are 12 cm and V3R cm?

respectively. Find the value of R.
1999 HI2 a p

argl ABCDEF .- &+ #7;% # 4 f# 2 3J/3em? - %
=35 PORS o . Xem? > $ X hig o

In the figure, ABCDEF is a regular hexagon with area equal

to 3v/3 cm? Let Xom? be the area of the square PORS, find

the value of X'. R
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PORS is a square, PTU is an isosceles triangle, and \‘\,‘

ZTPU = 30°. Points T and U lie on QR and RS respectively.  ° T x

The area of APTU is 1. If the area of PORS is d, find the value of d .



0.5absinC (HKMO Classified Questions by topics)
2004 FIS.3

- Bz AMEE R - BEEL Jom SRl R
Figz 4505 A RiPem? s KRR iE o (F R4 7).
Given that the perimeter of an equilateral triangle equals to that of a circle with

radius %cm. If the area of the triangle is Rm?> cm?, find the value of R .
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In Figure 1, ABCDEF is an “L shape” figure formed by six squares. H4K is a

straight line and the area of the shaded region is equal to % of the area of

ABCDEF:. If the length of each small square is 1 cm and the length of HK is m cm,
find the value of m .
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In the figure, a regular hexagon is inscribed in a circle with
circumference 4 m. If the area of the regular is 4 m?,

find the value of 4. (Take © = % )
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In Figure 1, a regular hexagon and a rectangle are

given. The vertices of the rectangle are the

midpoints of four sides of the hexagon.

If the ratio of the area of the rectangle to the area of
the hexagon is 1 : g, find the value of ¢ .
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In the figure, ZABC is a right angle,
AC=BC=14cmand CE=CF=6cm.

If CD = d cm, find the value of d. D

c F
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In the figure, ABCD is a square, £ is a point and 1
ZEAB =30°. If the area of ABCD is six times that of

AABE, then the ratio of AE : AB=a : 1.
Find the value of a .
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In the figure, two rectangles with
widths 4 and 5 units cross each other
at30°. Find the area of the overlapped
region.
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In the figure, AE =14, EB=7, AC =29

and BD = DC = 10. Find the value of BF? .. £

B
Figure 2
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’:‘:}t x> y SNz

T 12 BARR Y FREyPER S 22 v i

A5 xyzw e ff 2_a +b £ B=2430 thiE o
Let x, y, z, w be four consecutive vertices of a regular 12-gon. If the length of the

line segment xy is 2 and the area of the quadrilateral xyzw is a + Jb ,

find the value of B = 23"
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In Figure 1, AABC is a right-angled triangle with
AB 1 BC. If AB = BC, D is a point such that
AD 1 BD with AD =5 and BD = 8,
find the value of the area of ABCD .

Created by Mr. Francis Hung
Bl = Figure 3
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PQR is a triangle with PO = 13, OR = 14 and PR = 15. The circle C is drawn with
diameter PR . C intersects OR at a point 7. Find the area of APTR .
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As shown in the figure, ABC is a triangle with 4B = 40, BC = 30 and ZABC =
150°. M and N are the mid-points of 4B and BC respectively. The angle bisector
of ZABC intersects MN and AC at D and E respectively. Find the area of

o 1 PR ‘"‘; E

R N ANC A

B C
2014 F14.3 quadrilateral AMDE .
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The perimeters of an equilateral triangle and a regular hexagon are equal. If the
area of the triangle is 5 square units, determine the area, y, of the hexagon in
square units.

2017 HI15
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In Figure 3, given that ABCDEF is a regular F C
L J
hexagon and its area is 9043, "
E D

find the length of GJ.
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In Figure 3, D is a point inside the
quadrilateral ABCE such that AD // BC, AB
1 AD, CD L DE, CD =ED, AD =4 cm and
BC = 6 cm . If P cm? is the area of AADE,”
find the value of P .
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In the figure, the rectangle ABCD is rotated about its 4

centre 45° anticlockwise to obtain the rectangle B Q ¢
EFGH | :

If AB = 4, find the area of the shaded region PORS . F

2023 HI8
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If the area of an equilateral triangle is numerically equal to its perimeter, find the

radius of the circumcircle of this equilateral triangle.
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Answer
1984 F14.4 1985 FS1.4 1986 FSG.3 1987 FG6.2 | 1988 FG9.1
12 1 60 100 60
1989 HI7 1991 FSG.3-4 | 1992 FG8.1 1992 FG9.1 1995 HG2
45 h=30,k=150 2 6 132
2004 FSI.3
1996 FI1.12016 FI2.1 | 1997 FI3.3 1999 HI2 2002 FG2.4 NG
3 3
4 8 3 —
4
2006 HI2 2009 HGS 2010 FI4.1
2005 HI5
" 1473 2007 Hi2 212 2
242 5 3
2011 FG2.1 2012 HI10 2012 FI1.2 2012 FG1.4 2014 F14.3
40 81.64 108 32 7.5
2018 HG10
2017 HG15 2018 HI10 2022 P1Q8 2023 HI6
900 4
45 54 ——=128- 4 1612
2023 HI8
4
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